MyPicot

Crochet Stitch Patterns
Bouquets #6005:

- =-chain (ch) - treble / double
% crochet (tr / dc)

~  =-slip stitch (sl.st)

X - double crochet /

single crochet (dc/ sc) @ - picot of 3 chain (picot)
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A bouquet consist of 3 roses, 3 middle flower, 9 little flowers, 3 big leaves, 4
branches with flowers and 7 branches of little leaves.

We uses seven different colored yarns: red, yellow light, yellow dark, white, brown,
green light and green dark.

For rose work with red yarn chain foundation of 50 ch (47 + 3 turning ch), then work
follow diagram A. After that work the middle part of rose follow diagram B. Cockling both
parts and forming a rose, than sew it together.

For middle flower with white yarn work chain foundation of 10 ch (7 ch + 3 turning
ch)then work follow diagram C. Crochet sum total 16 petals. After that work the stamen
middle part of rose follow diagram D. For this work 2 ch and 6 dc/sc in second ch from
hook. Crochet sums total 10 stamens. Cockling both parts and forming a flower, than sew
it together.

For little flower the work begins with brown yarn (diagram E). Make chain foundation
of 3 ch.
1 round: work 7 dc/sc in last ch from hook and with yellow light yarn 1 sl.st in 3rd turning
ch.
2 round: work 1 dc/sc in the same turning ch, 7 ch, 1 tr/dc in 4th ch from hook, 2 tr/dc in
next 2 ch, sl.stin next ch and 1 dc/sc in next dc/sc of previous round. Crochet more in
such manner 7 petals follow diagram E.

For branch of little leaves work with green dark yarn follow diagram F. Work *14 ch, 1
dc/sc in 2nd ch from hook, than work in each ch 1 h.tr/h.dc, 3 tr/dc, 1 h.tr/h.dc, 1 dc/sc and
sl.st, repeat 3 times from*; 9 ch, dc/sc in 2nd ch from hook, than work in each ch 1
h.tr/h.dc, 3 tr/dc, 1 h.tr/h.dc, 1 dc/sc and sl.st, than work * 3 sl.stin next 3 ch, 9 ch, dc/sc
in 2nd ch from hook, than work in each ch 1 h.tr/h.dc, 3 tr/dc, 1 h.tr/h.dc, 1 dc/sc and sl.st,
than 2 sl.st in next 2 ch, repeat 2 times from*, 3 sl.st.

For branch with flowers the work begins with green light yarn (follow diagram G).
Work 5 ch, *12 ch, 1 sl.stin 2nd ch from hook and 5 sl.st in next 5 ch, repeat 2 times
from*; 7 ch, 1 sl.st in 2nd ch from hook and 5 sl.st in next 5 ch, *3 sl.stin next 3 ch, 7 ch, 1
sl.stin 2nd ch from hook and 5 sl.st in next 5 ch, 2 sl.st in next 2 ch, repeat 1 time from*,
10 sl.st.

After that, work with yellow light yarn. Fasten the yarn to little branch in point f (see
diagram G) and work * 2 ch, 6 dc/sc in 2nd ch from hook, sl.st in next stitch of previos row,
repeat 4 times from*. Work in same manner flowers for other little branches.

For big leaf work with green dark yarn follow diagram H. Work 10 ch and 1 quintuple
treble/ quadruple treble, *5 ch and 1 quintuple treble/ quadruple treble in the part
between centre and lower part of previous quintuple treble/ quadruple treble, repeat 1
time from*, 5 ch 1 quadruple treble/triple treble in the part between centre and lower part
of previous quintuple treble/ quadruple treble, 5 ch, 1 triple treble/double treble in the
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Diagram A
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Repeat 12 times more (flower has 16
petals).

Diagram D

Repeat 8 times more.

XXAXXXX
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Diagram E

Diagram G
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same space, * 5 ch and 1 triple treble/double treble in the next space of treble's
connecting, repeat 1 time from*, 10 ch and sl.st in first ch.
Work 12 ch, 1 sl.stin 2nd ch from hook, 10 sl.stin next 10 ch, 10 dc/sc in arch of 10 ch, 1
dc/sc in stitch below, 1 picot of 3 ch (last ch join by a sl.st to stitch right from hook), * 5
dc/sc in space of 5 ch, 1 dc/sc in stitch below, 1 picot of 3 ch, repeat 5 times from*, 10
dc/sc in space of 10 ch, sl.st.

www. mypicot.com



